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JERRH R =X 64, 209, 281
HEELT = 27,516, 134
PEHI L (ICT) = 3,425,064 |#EHI (ICT) 720 m3
Tw FrEidEE
HEHEI (ICT) 6, 500 m3
/Y -7 iy BEEMEL 5, 000m3LL 110, 000m3
A
FEIA O=27) 1 =X
+1 &850, 000m3ATH ;
BEARRE AT = 1,040,515 | B (B BE+ 180 m3
2. 5mAT ;
PR (BEE8) S 1 70 m3
2. 5mPL 4. OmARTi ;
EEEEIE T (ICT) = 2,267,485 |IEmEFETR (B)135) (ICT) 2, 350 m2
VY = W R OWhE = CREE L
BRI (B 1356) (ICT) 320 m2
EmEAEE O L
P v T = 20, 783, 070 | H&4h 1 =
B2 A couE
T wb AT 1 =X
0 Cadl- EHIRY £5T) ;
IR = 6, 149, 860
fliAE T = 6, 149, 860 | FE-T-HiIAn 320 m2
BV 250m2LL F500m2AT ;
fEAy b 2,300 m2
A=y b L 1000m2LL F ;
EEEET = 7,290, 141
av)) -k T X 7,290, 141 | T/ (HE - BRIE ) 1, 250 m2
FEITyYr77 RC-40 A VW E 150mm ;
1)) bESE 1, 250 m2
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18-8-25/4F &fiZE/E 150mm ;
H HihR 16 m2
TR AHE R B M =10 ;
Bh AT L 2 1 1, 599, 840
PEANIBA AT L X 1 1,599,840 |# =N L-W 180 m
WAL Gr-C-4E 100mPh b d R4l 1E 4
HEKHEEY T = 1 7,002, 196
e+ T X 1 556,976 |FRIEY 1 X
+4)
HEL 1 2V
+4)
AR T = 1 3,154,360 |7 V¥¢AMUBLRITE 268 m
PULBUARE 300 X 300 X 2000 ;
AR v T 2 1 252,680 |BIGHT HEKME 1 (£
[15#]
500X 500X 500 BiIGFTHF 18-8-25 (k) ;
BGHT K 1 (£
[25-#]
500 X500 X500 HiHFTHS 18-8-25 (HikF) ;
BGHT K 1 (£
[35-#t]
500X 500X 600 BiIGFIHF 18-8-25 (FEidF) ;
BGHT K 1 (£
[4-5-#]
500X 500X 600 BiIGFIHF 18-8-25 (FEidF) ;
= 2 r5e
EYN2Y
500X 5008 /T Vv—F/r % K OVMEE  T-25;
HEAKT = 1 3,038,180 |/NEEHEAK 110 m
AIE 300mm PNE 300mm ;
foEHEAK 18 m
AIE 300mm PNE 300mm ;
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HEYE T = 1 693, 552
EERUE L T = 1 349, 268 | & ERRAR A 410 m2
/) ) - MR EEERE 15cm
/)Y - NEUE U SR e 0.7 m3
IAAEIEY |
TE LB T =Y 1 344, 284 | BoE M 61 m3
/)Y - hik (AT
RISy 61 m3
/) - bk BEA%)
SHRUELE T = 1 12, 389, 238
PRBRUEIR AR T = 1 12,389, 238 | il 11.6 t
BT (FEATHE)
FTHE B 4LER 32 m2
s 1 2
TEFRy NARE
R 2 m3
/)Y - hik (AT
RISy 2 m3
/) - bk BEA%)
A Y 1 1, 568, 320
AEEHE T Y 1 1,568, 320 | AZ1HFHEEE S 116 AR
BREE;
[ERAE Xy = 1 64, 209, 281
HiE 2 1 13, 006, 849
BISTI S = 1 7,007, 849
YT = 1 5,737,112 | IR 2 ! A
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HeffrE sy = 663, 737 | {R5FEHER (ICT) 1 =
YATLRIE 2 (ICT) 1 F2V
BGRESGESE (5 L) = 607, 000
B (FEEHL) = 5, 999, 000
T = 77,216, 130
Bl g = 21, 222, 000
T =5l = 98, 438, 130
— R A = 16, 681, 870
TS = 115, 120, 000
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